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@ 25° @ 30° @35°
@ 40° ® 45°

A2 o] izte] 2719 92 180° o2&
Lx+3/x+2/x-30°=180°
S /x=35°
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5. & ™A LAOD = 4,COD, /BOE =
3/DOE ¢ u, /COE 9] Z7|=?

@® 30° @ 35° ® 40°
@)45° ® 50°

,

e

/AOC + £COD + /DOE + /EOB

= 3/COD + «COD + /DOE + 3/DOE
= 4,COD + 4/DOE

= 4(2COD + /DOE)

=4/COE = 180°

.. L.COE =45°
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AB =EA , /ABC = /EAG =60°, /ACB = /EGA = 90°
.. AABC = AEAG (RHA &%)

.. EG=AC=AD

AEGF ¢} ADAF A /EGF = /DAF =90°, EG = DA ,
(GFE = /AFD 9|4 /GEF = /ADF

. AEGF = ADAF (ASA %)

.. EF = DF

wt2tA], EF - DF =0




